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@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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D 64+x=x+6-18 @ 6x+ 18 = 6x

® 6+ x+18 =6x ® 604+x-18=10x+6

® 60+x+18=10x+6
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D 36 @ 39 @ 42 @ 45 & 4
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.05x—0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
® 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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@ 0.08x 4 0.03(480 — x) = 0.07 x 480

@ 0.08x 4 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) 4+ 0.03x = 0.07 x 480

® 0.084+x+0.03+465-x=7
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® 20¢g @ 30¢g ® 40 g @ 50 g ® 60 g
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@ 6x— (80 + 0.5x) = 90 @ 3x- (120 + 0.5x) = 90
® 0.5x - (120 + 6x) = 90 @ 6x— (120 + 0.5x) = 90

® 6x-120+0.5x =90
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